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response which you want to mark on the Answer Sheet. In case you feel that there is
more than one correct response, mark the response which you consider the best. In any
case, choose ONLY ONE response for cach item. -

5. You have to mark all your responses ONLY on the separate Answer Sheet provided.
See directions in the Answer Sheet.

6. All items carry equal marks,

7. Before you proceed to mark in the Answer Sheet the response o varipus items in the
Test Booklel, you have to fill in some particulars in the AnswerSheet as per instructions
sent to you with your Admission Certificate.

8. Alter you have completed filling in all your responsés on the Answer Sheet and the
examination has concluded, you should hand overto the Invigilator only the Answer
Sheet. You are permitted 10 take away with yoii the Test Booklet.

9. Sheets forrough work are appended, inthe Test Tookier at ihe end.

10. Penalty for wiong answers : e B
THERE WILL HEI‘I*;NJ"\.IJ;FY FORWRONG ANSWIERS MARKED BY A CANDIDATE IN TS
OBJECTIVE TYRE QUESTION PAPERS.
(1 Theresaredour alternatives for the answer to every gquestion. For each guestion fin
which #*wrong answer has been given by the candidate, ene-third (0-33) of the
marks assigned to that question will be deducted as penalty,

() 1 a candidite pives more than one answer, it will be treated as o wrong answer v
it one of the piven answers happens to be correet and there will be same prenal.y as
above to that guestion.

fur} I o question is left blank, ie., no answer is given by the candidate, there + 111 In
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1. According to Elton Mayo, a worker’s 3. Match List-1 with List-1I and select
performance is primarily related to the correct answer using the code

given below the Lists ;
fa) interactive setting in an
organization

List-T List-11
(b} the worker's  personality (Characteristic) ihandersth
- varfables Theory/ Model)
A. Personality 1. Three-
(c] technology and tools made characteristics dimensional
, available to the worker theory
(d) socially acquired attitudes of B. What leaders do 2. Behavioural
the worker in the post and theory
outside the factory L. s
C. Leadership is 3. Decision-
multidimen- ©  participation
o= sional model
2. Consider the following statements
with regard to Citizens’ Charter - D. Continuum from 4. Trait theory
authoritarian to
l. The idea of Citizens' Charter consultative
h.@ﬁ:ﬁt c:ulvcd_tjn Eﬁ:;_in as a 5. Sitaatior]
part of neo-liberal ethics, theory
2. It was articulated by John 1
Major.
3. It contains demands of factory Fedey
workers,
4. It has elements of class-
hegemony. (@ A B © 0
4 2 5 3
Which of thg . statements given
above is/are eorrect? M .
B A B LD
4 3 1 5
fa) 1and 2 only
b) 2 and 3 g4 B € B
5 4 3 2
fci 1,2 and 4
fd A B ¢ D
fdl 1 only 3 1 2 5
N-DTO-K-RWC /4B 2
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4. Which of the following statements

reflect the views of Frederick

Taylor?

1. An industrial organization
is govemé'd by  definite
regularities and laws.

2. Deregulation of  various
activities and other factors of
production is neccssary.

3. A radical separation between
planning and performance of
the work is essential,

4. Management has to bear
the main responsibility for
transforming an organization.

Select the correct answer using the

code given below
Code :

fa) 1 and 3 only
fhj 2,3 and 4
fc¢) 1 and 4 only

fdl 1,3 and 4

5. Consider the following statements

with “.regard to the Finance
Commission :

1. The 13th Finance Commission
was mandated to take stock of
the arrangements regarding
fimancing of disaster
management with repard to the:
National Calamity Contingency
Fund and the Calamity Relief
Fund.

B2

The 13th Finance Commission
highlighted the likely impact
of the implementation of the
Goods and Scrvices Tax Act.

N-DTO-K-RWC /4B
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3. The recommendations of the
Finance Commissions cover a
period of five years.

4. The Reports of the Finance
Commission are submitted to
the Prime Minister.

Which of the statements given
above are correct?

{@ 1,2, 3 and 4
fb) 3 and 4 only
fc) 1,2 and 3 only
{dl 1 and 2 only

6. Anti-bureaucratic approach was

most dominant in the writings of
{a) Christopher Hood

fbj Terrel Heady

e} Vingent Osirom

[d] Dwight Waldo

7. The Directorates in a State

Government are responsible for
1. policy formulation

2. provision of staff inputs

3.  policy implementation
4

rendering advice to Ministries
concerned on technical
maltlcrs

" Select the correct answer using: the

code given below :

C.‘lode ]

fa) 1 and 2

(bl 3 only

¢/ 3 and 4 only
(d) 2,3 and 4
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. 8, Consider the following statements on Select the correct answer using the
line-itemn” budget : code given below :
1. It is a British legacy. Code :
2. It is oriented to a system of fa) 1 and 2 only
checks and counterchecks. (b) 1,2 and 3 only
3, It facilitates decentralization. (c) 3 and 4 only

S o (d) 1,2, 3 and 4
4. Itis aimed at rigid control over

expenditure. - ;
10. Which one of the following is the first

orthodoxy of Public Administration
that gave birth to the discipline of
Public Administration?

Which of the statements given
above are correct?

(@) Public-private dichotomy

fa) 1,2 and 4. (b} Politics-administration
: L P dichatoniy
fb) 2 and 4 only (¢) Political science-management

science dichotomy

(c/ 1 and 2 only éj Poliical séience=public adminis-
' tration dichotomy
{d] 1, 3 and 4
11, Deéccentralization in  the form of
deconcentration  is  not truly

i lecentralizati
9. Which of (he Ll Gn decentralization, because it

observations  of the  Brownlow 1. is intra-organizational _
Committee with . regard to 2. is merely a devolution of
the Independent Regulatory powers

Commissions (IRCs) of USA? 3. involves physical shifting of

some central activities to a

I, The IRCs would be better off, .
different space

if Congressional control over
them is strengthened 4. decentres the administration,
ng ;

not the government
2. They enjoy power without )
responsibility. Select .thc correct answer using the
code given below
3. They should be converted into R
adjudicatory boards inside the ) '

departments. faj 1 and 4 only

- ] fb) 1, 3 and 4 only
4. They are an  outstanding 4 ¢

development in the American fc) 3 only
federal government, {dl 1,2, 3 and1
N-DTQ-K-RWC/4B 6
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12. Dwight Waldo and Herbert Simon

challenged politics-administration
dichotomy for different reasons.
Which one of the following reasons
may be attributed to Waldo?

fa) 1t is difficult to unbundle
politiecs from administration
and vice versa

(b} Administrative decisions
involved questions of facts
as well as of values

(c) Politics-administration formula
.. -was an attempt on the part of
the public administration to
fulfill  the
administrative jurisdiction

. {d) Administration is what the
administrators do, just as
politics is what the politicians
do

13. Which one of the following is_not

related 1o Mew Public Management
[NPM)  orientation in
administration?

public

fa) NPM’s focus is on outcomes,
rather than inputs

(b} NPM’s explanatory tarpets are
efficiency and customer

satisfaction

{e)  NPM is essentially 2 new brand
of organization theory

] NPM acknowledges the unique

cultural and political role of

public goods and the public
sector

N-DTO-K-RWU /4B
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14. Consider the following paragraph :

It is this school of intensive work in
the redlities of administration that
equips an assembly to be a selecting
ground, not for mere demagogues
but for effective politicians with a
grasp of reality of which the English
Parliament is the supreme example.
Only this kind of relationship
between officials and professional
politicians generates the continuous
control of the administration and
through this the political education of
both leaders and led.

{Max Weber)

In the above paragraph, Weber
formulated a normative principle to
govern the relationship between the
bureaucrats and ‘the politicians,
Which of the Tollowing is/are the
basic princple(s) identified here?

1. Effective politicians need to
intervene  regularly  in the

realitics of administration.

2. The Parliamentary
creates opportunities  for ihe
political education for all—the
politicians - as  well as  the
burcaucrats.

sysiem

3. Control over administration
has to be a continuous process
te be engaged in by the
politicians. .

Select the correet.answer using the

code given belaw -

Code :

fa) 2 only

(5] 2 and 3 only

fe} 1 and 3 only

fd) 1,2 and 3

A e o P o oo e e crr e s
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15. The most widely used model of Select the correct answer using the
the communication process that code piven below :
evolved from the work of Shannon,

Weaver and Schramm includes the Code :
following :
1. Source

fa] 1,2 and 3
2. -Receiver
3. Encoder () 2,3 and 4
4.  Decoder fc) 1,3 and 4
5. Message Channel

(d] 2 and 4 only
6. Feedback
7. Noise

17. Which of the following form part of
Amitai Etzioni’s classification of
control structures?

Which one of the following is the
proper sequence of the above?

3, st
(a) 1-3-5-6-7-9-4 AN
2. " Nommative
{b) 1-3-54-9- /7
3. Passive
fc} 2-4-5-6-7-1-3 ;
4. Coercive
{dl 3+42.6-7-51
Select the correct answer using the
_ code given below -
16. Citizens” Charter is framed on the
principles of

1. co-management of civic Code :
services with citizens'
participation in administration

2. assured time bound quality/ fa] 1 and 2 only
quantity of scrvices
3. simplified procedures  for (B} 2 and 4 only
recelpt of complaints and their )
guick redressal
_ . fed 1,2 and 4
4. provision of  performance
scruliny with citizens’
involverment {dl 1, 3 and 4
N-1DTQ-K-RWC /4B 10
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18. Which of the following metaphors

isfare part(s) of the organization
change models formulated in
interactions with environment?

1. Biological metaphor

2. Rational metaphor
3. _ Political metaphor
4. Public choice metaphor

Select the correct answer using the
code given below :

Code :

fa) 1,2 and 3 only
fb) 2 and 3 only
¢/ 1only .-

{d) 1,2, 3and 4

19. Which ene of the following correctly

conceptualizes, “the ‘concept of
‘functional foremanship™

(a] Each employee reporting to his
immediate boss in the line of
command '

fb) Each employee reporting to
different superiors (leaders) for
different aspects of his work

fc) One foreman responsible for
many functions at the shop
level

(d) Opposite of the principle of
multiplicity of command

N-DTQ-K-RWC /4B 12
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20. According to Henri Fayol, all

undertakings—large  or  small,
industrial, commercial, political,
religious or others have to perform
certain common activities. These
are

fa) executive, legislative, judicial
and public relation functions

(b} financial, accounting, control-
ling, planning and evaluation
functions

fc) planning, organizing,
commanding, controlling and
coordination functions

{d) technical, commercial,
financial, security, accounting
and managerial functions

21. The concept of hierarchy implics

1.. the formal structuring of the

line of  authonty anid
responsibility in an
orgamization  from top to
bottom

2. superior-subordinate relation-
ship amongst employees of an
organization

3. an arrangement of all the
members of an organization
in a pyramidal form for
facilitating discipline, control
and coordination

Select the correct answer using the
code piven below ;

Code -

fa) 1 and 2 only

(bl 2 and 3 anly

e} 3 only

fdl 1,2 and 3

B R P M T e e e
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22, Match List-I with List-Il and select
the correct answer using the code
given below the Lists :

List-1
(Type of
Accountability)
A. Hierarchical
B. Legal
C. Professional .

D, Political

Code :

aF M Ws
2 3

hi A B
2 1

e} A B
1 4

idj A £}
] 3

N-DTQ K-RWC/4B

List=IT
(Behavioural

Expectation)

Responsible to
key external
stakeholders

Obedience to
organizational
directions

Compliance
with
institutional
and regulatory
mandates

Deference to
individual
Jjudgment and
expertise

D

D

D

www.upscportal.com
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23. Who of the following is not a part of
the Committee that recommends
the appointment of the Chief
Information Commissioner to the
President?

() The Prime Minister

(b} The leader of the opposition in
the Lok Sabha

fc) The Chief Justice of the
Supreme Court )

{d A Union Cabinet Minister,
nominated by the Prime
Minister

24. Which. one of the following is correct
with respeet to the Right to
Information Act, 20057

fa) Information relating to Cabinet

Papers including records of

) deliberations of the Council of
Ministers are provided

fb) An applicant making request
~for infofmation is not required
o pive any reason for the same

fc]  Only an  institution or an
organization can  make 2
request for information

fd) A non-citizen can make a
request for information

R T TR T T BT
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25. Promotion in the Japanese Civil
Service depends on

1. seniority
2. managerial ability
3. negotiating skills

4. professional excellence with
demonstrable ability to draft
legislation

Select the correct answer using the
code given below :

Code :

fa) 1 only
{b) 2 and 3 only
fcj 1, 2 and 3 only

fd 1,2, 3 and 4

26. The Masterman Committee of Britain
deals with

] service  conditions  of  eivil
sCrvants :
{b] political  activities  of  civil

servanis

(e} functioning of Whitley Councils

fdl None of the above

N-DTO-K-RWC/4B
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27. In the Council-Manager form of city
government of USA, the Mayor used
to be a ceremonial head. The
current trend, however, is towards
directly elected full-time Mayor
having greater control over city
bureaucracy. Due to  these
structural changes, the Council-
Manager cities are now called

{a) Strong-Mayor cities
(B} Adapted cities
¢}  Mayor-Coungil citics

fd) Manager-Council cities

28. Sherry Arnstein's elassic _ paper,

‘A Ladder of Citizen Participation’

‘presents a typology ol eight levels
of parh’ciﬁatinn grouped into a
number of discrete clusters. Which
of ihe” following are the comrect
clusters as identified by him?

1. Non-participation
2. Tokemsm

3. Citizen power

4

Incremental participation

Select the correct answer using the
code given below :

Crorde

fa) 1, 3 and 4
(b)) 1, 2 and 3
{c)] 2 and 3 only

{d} 1 and 2 only

10
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25. Promotion in the Japanese Civil

Service depends on

1. seniority

2. managerial ability
3. negotiating skills-

4. professional excellence with
demonstrable ability to draft
legislation

Select the correct answer using the
code piven below :

Code :

fa] 1 only
fb) 2 and 3 only
fe) 1, 2 and 3 only

fa 1, 2, 3 and 4

26. The Masterman Committee of Britain

deals with

©fa) service  conditions  of  eivil
servants i

{b) political
scrvants

activitics of  civil

e} functioning of Whitley Councils

fd) None of the above

N-DTO-K-RWC /4B
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« Sherry  Armnstein's
‘A Ladder of Citizen Participation’
‘presents_a typology of eight levels

27. In the Council-Manager form of city

government of USA, the Mayor used
to be a ceremonial head. The
current trend, however, is towards
directly elected full-time Mayor
having greater control over city
bureaucracy. Due to  these
structural changes, the Council-
Manager cities are now called

{a} Strong-Mayer cities
(b} Adapted cities

{c)  Mayor-Coungil cities

© {d) Manager-Council cities

classic  paper,

of _participation grouped into a
number of discrete clusters. Which
of the following are the correct
clusters as identified by him?

1. Nen-participation
2. Tokenism

3. Citizen power

4

Incremental participation

Select the correct answer using the
code given below ;

Corde :

fe) 1,3 and 4
{8 1, 2 and 3
{c/ 2 and 3 only

{cf) 1 and 2 only

11
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29. Which of the following is/are correct 31. In which one of the following 5
with regard to the US Civil Service? approaches to decision-making,

the bureaucrat is portrayed  in
a self-aggrandizing and budget-
maximizing role?

1. Higher Civil Service is both
specialist and generalist,

2.  Professionals serve as Bureau
Chiefs, (a] Rational approach

3. Bureaucracy is fragmented, (b) Participative approach

4. Civil servants do not have the (c) Bargaining approach
right to organize unions.

{d] Public choice approach
Select the correct answer using the

code given below : 32. Which one of the following
definitions of ‘public’ dominates the

Codi: - : literature in public administration?
(a) Institutional delinition

@ 2oy (B) . Nermative definition

(b) 1 and 4 {¢) Organizational definition

) 2 and 3 {d] Political definition

fd] 3 and 4 33. In advocaling ‘normative account-

ability’, Carl Friedrich has argucd
in favour of
30. Which one of the following is not a 1.
feature of Ashok Mehta Committee
recommendations on  Panchayati )
Raj Institutions (PRIs)? 3. social values

professional standard

2. codes of ethics

_ 4. inner conscience-driven cthics
(a) Constitutional recognition to

Select the correct answer using the
the PRIs :

code piven below -

(b) Non-involvement of political ' Code
parties in clections to the PRIs
fa] 1,2, 3 and 4
(c] Reservation of seats for SCs
and STs (b) 2 and 3 only

fc) 1, 2 and 3 only
(d) A Minister in charge of

Panchayati Raj f) 1 and 4 only

N-DTQ-K-RWC /4B 18
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34. In the perspective of public
administration ~ reform,  which
among the following major ideas
were introduced by the Reinventing
Government’ Phase (1992)?

1. Government should empower
citizens and public employees
alike.

2. Government should be
customer and mission driven.

3. Government should not
anficipate but solve problems,

4. Government should be entre-
prencurial and competitive.

Select the correct answer using the
-code given below

Code :

fa) 1,2 and 3
fb} 2 and 4 only
fe) 1 and 4 only
fd} 1, 2 and. 4

35. Which of the following is not a part
of the conceptualization scheme
of ‘publicness’ and ‘privateness’
formulated by Benn and Gaus?

fa) Agency—agent acling privately
or publicly

- (b Access—degree  of openness
- that. distinguishes publicness
from privateness

fc)  Scope—extent of social space
affeccted by organizational
activities

fid) Interest—relating to status of
people who will be betler or
worse off for whatever is in
guesiion

open and closed models of
organization have becn explained in
terms of perceptions about

|
I
36. Fundamental differences between 1
i
i

1. the nature of human beings

2. the role and significance of
organization-in ‘society
3. the organizational environment

the technological impact on the
operating organization

Select the correct answer using the
code given below :

Code -

(@) 1,2 and 4
(b)) "1, 2 and 3
{c] 2-and 4 only

{c) ]I and 3 only

37. Which of the following are included

as Hypiene factors in Herzberg's
theory of motivation?

1. Salary
2. Supervision
3.  Recognition

4. Interpersonal relationships

Select the correct answer using the
code piven below :

Cade

fa) 1,2 and 3
fh) 2 and 4 only
fej 1,2 and4

fd) 1 and 4 only

N-DTO-K-RWC/4B A
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38. Whlch one of the _follow:n does
“not bf:long to Shamsul Haque’s
typology uf the dlmensmns of

...........

entrepreneunal ma_nagem ent’?

R

fa)] Accountability for what, or the
standards of accountability

{b) Accountability to whom, or the
agents of accountability

fc} How to assume accountability,
or the means of accountability

fd] When to ensure accountability,
or the periodicity of account-
ability

39. In India, an election to constitute a
municipality has to be completed

fa} immediately on completion of
its term of five years

(b} belore the 'r.*.\cpiry of its fixed
tenure ;

fc)  before the expiry of a period of
5ix months from the date of its
dizssolution

{d)  MNone of the above

N-DTO-KE-RWC/ 4B =

www.upscportal.com

40. Which one of the follmmng about
Article 243G is correct?

{a] Panchayats should be enabled

fb)

e}

(d)

41. The

by law te function as an agent
of the State Gwcrnmcnt

Panchayats should be enabled
by law to function as
institution of self-government

Panch#yats will act as the
implementing  agencies for
centrally sponsored schemes

Gram Panchayvats ‘will be
answerable to District

. Panchayats

carliest roots of Municipal

Administration in India can be
traced to

(@
)
(9

(d)

the Government of India Act,
1935

Jord. Ripon's Resolution on
‘Local Self-Government

establishment of the Municipal
Corporation at Madras

the recommendation of
the Royal Commission on
Decentralization
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42. Which of the following did Luther

Gulick list as factors impacting the
span of control of an officer in an
organization?

a) Age and location of the
organization, nature of the
work donc and personality of
the supervisor

(b} Span of attention of the
superior, cooperation, diligence
and punctuality of workers

¢} Use of computers, modern
information and communica-
tion techniques '

(d] Informal relations and contacts
with subordinates, = use
of leaders of informal
organizations within the formal
organization and location of
the organization '

43. Why did Frederick Taylor emphasize

the need for 'mental revolution® as
an essential requisile of scientifie
management? '

1. It called upon the management
to equally divide the functions
and  responsibilities  between
managers and workers.

2. Workers were trained,
instructed and required to use
scientifically  developed tools,
standardized  methods éLnd
practices and increasc

- produetion to maximuam extent -

Select the correct answer using the
‘code given below ;

Code :

fa) 1 only

fb) 2 only

fr} Doth 1 and 2
{cf) Neither 1 nor 2

COTO-K-RWC/4RB
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*teaching and  observation.

44. Consider the following paragraph

and using the code given below,
identify the leadership theories
discussed in it :

These theories of ieadership focus
on the actions of leaders, not on their
mental gualities or internal siates.
According to these theories, peaple
can learn to become leaders through
These
theories of leadership are based
upon the beﬂef that great leaders

are made, not born.

“Code ;

fa) Participative theories
fb] Behavioural theories
el Situational theorics

{d) Contingency theories

45. Votes of Credit’ provides for making

fal an
forms

exceptional grant  which
no  part of current
service of any financial year

(b} any grant in advance in respect

of estimated expenditure for a
parl of any financial year

fe) =
unexpected
resources of India

grant  for  meeling  an

demand upon

fd] a grant for  additional
expendilure upon new service
not  contemplaled  in the

financial year

15
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Directions :

The following eight (8) items consist of two

48, Statement ] ;:

statements, Statement I and Statement L tion

You are to examine these two statements

carefully and select the answers to these

‘Publicness’ in Public Administra-

is a complex-structured

concept.

items using the code given below :

Code :

o) Both the statements are
individually true and
Statement 11 is the correct
explanation of Statement 1

(b} Both the statements are
individually true but
Statement 11 is not the correct
explanation of Statement 1

fc) Statement I is true but

Statement 1[I is false

{d] Statement 1 is
Statement 1 is true

false  but

46. Statement [ ¢

The principle of correspondence as
defined by Urwick implies that
authority and responsibility of a
functionary must be coequal.

Statement I :

Assignment of responsibility to a
functionaryuneed not always carry
commensurate authority.

47. Statement 1 :

All burcaucratie organizations are
hierarchically organized.

Statement 11 :

The principle of hierarchy serves
as an effective tool for cnsuring
smooth communication, coordina-

tion, supervision and control
within an organization.
N-DTQ-K-RWC/4B
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Staternent II :

Public = Administration  differs
from private administration with
regard to at least three major
dimensions—locus (agency), focus
(public interest} and access
(openness).

49, Statement [ :

Almost all the States in USA are
required by law to balance their
budgets cach year,

Statement 1 :

Frustrated by the growing deficit
budgets,, “the US  Congress
committed an act of extraordinary
rarily : it increased the budget-
making power of the President
by enacting the Line Item Veto Act
of 1996.

. Statement 1 :

" Usually a votc on account is -

discussed in detail and voted upon
by the Parliament.

Statermnent 11 ;

A vote on account empowers the
Lok Sabha to make a grant in
advance for a parl of the financial
year pending completion of the
budgetary process.

16
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51. Statement | :

A public corporation in India is a
statutory entity,

Statement 11 :

A public corporation is financed by
annual appropriations from the
Treasury.

52. Statement [ :

The Weberian model of
bureaucracy is undoubtedly less
relevant to public administration
today than it used to be in the
past.

Statement II :

New Public Management approach
challenges and replaces the
Weberian bureaucratic model

53. Statement [ :

Traditional literatures on public
administration suggested that an
organization should have a narrow
span of control, if orders were (o
be communicated and carried out
effectively.

Statement 1 :

Simon argued that every principle
in the traditional Iiterature had a
counter-principle. Il organizations
were  to  maximize  effective
comimunication, thereby enhancing
responsiveness and control, there
should be a flat  hierarchical

structure.

N-DTQ-K-EWC/4B
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54, Why is M. P. Follett's concept of
‘Constructive  Conflict’ considered
innovative?

1. [Itrejects the conventional view
of conflict, which is considered
intrinsically bad for an
organization.

2. It views organizational conflicts
as natural and unavoidable,

3. While rejecting the
methods, she
conflict resolution
integration.

earlier
advocates

through

Select the correct answer using the
code given below :

Code :

fa) 1 and 2 only
fb) 2 and 3 only
(clball 2 and :JS
{d) 1 and 3 only

55. Consider the following significant
landmarks towards decentralization

in India :

1. Report of Montagu-
Chelmsford on Constitutional
Reforms

2. Royal Commission on
Decentralization

3. Ripon’s Resolution on Local
Sell-Government

4, Report of Balwantrai Mehta
Committée. . .

Which one of the following is the

correct chronological order of the

above?

fa) 3-1-2-4

(b 4-1-3-2

fc) 2-3-4-1

(d) 3-2-1-4

T
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56. Which one of the

following

statements is not true regarding

Scientific Management Movement

in public administration?

{a) Both Frederick Taylor and
Henri Fayol contributed to the

corpus of ideas called Scientific
Management

(b) While Taylor concentrated on
shop

management,  Fayol

focused his  analysis on

functions of the top
management

fc) While Fayol advocated the

14 principles of management,

Taylor firmly believed that.

management of work is a true
science based on one best way
of doing things

(d] While Taylor = had been
concerned with the pedagogy
of management, Fayol in
contrast, focused on the micro-
processes of work

57. Which one of the following. is net

true with repard to the Report

of 2nd Admimistrative’ Reforms

Commission” regarding training of

higher Cvil Services in India?

fa) The practice of having a
Common Foundation Course
for all Group A’ Services may
continue

(b} Successful  completion  of
training be made mandatory
for promaotions

fc) Eminent experts be included
on governing bedies of national
training instituies

fd) A new national training policy
be framed

N-DTQ-K-RWC /4B
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58. Which one of the following is the

foundational basis of Public Chaice
Theory?

a) Methodological individualism
(b) Neo-liberal cosmopolitanism

{c] Critique of Marxist
contradiction

class

(d) Political rationality

§9. Why did Gulick and Urwick prefer

administrative departments headed
by single top executive (bureau
system) to administrative units
headed - by plural bodies Tlike
boards/committees?

1. In their view, committees are
cumbersome and wasteful.
*

2. They were influenced by the
Report of the US President’s
Committee on Administrative
Management.

3. They found that higher-level
administrators almost always
head  conspicuously  well-
managed administrative units.

4. Collective wisdom, in their

view, facilitates taking sound
administrative decisions.

Select the correct answer using the
code given below . T

Code :

fa} 1 and 2 only
{h) 2 and 3 only
fe) 1,2 and 3

fdl 1, 3 and 4
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60. In which of the following circum- 62. The evolution of the study/discipline
stances, courts are debarred of Public Administration has
to interfere in electoral matters? witnessed many paradigms. The

politics-administration  dichotomy

1. Delimitation of constituencies paradigm identified the locus of

2. Allotment of seats to the public administration in the
constituencies
3. Election petition presented to (o) Governments' bureaucracy

appropriate authority provided

under the law .
(b} Legislature
4. Election results

Select the correct answer using the (c) Judiciary
code given below :

{d] Council of Ministers

“Code :

(@ 1,2, 3 and 4 63. After the Second World War, the
scope of the study and practice of

() 2 and 3 only Public  Administration  widened

leaps and bounds, because of
1 and 4 onl P I
19 Py -~ 1. post-War rehabilitation  and

reconstruction of the economy
{d] 1,.2.and 3 only

2. spread of the concept of

Wellare State
61. A Performance Budget is a technique

emphasizing most on a scheme
Which of the reasons given above

. ; is ?
fa) of planning to deploy public ]bfarq RISl

resources . to achieve the best
results
. S fa) 1 only
fb) Tor ensuring legislative
finaneial control i
(b} 2 only J
f¢/ for  co-relating relationship

betwee i i 5 :
en outputs and input i) Both 1 and 2

{edl]  providing justification for all
programmes and activities (e} Neither 1 nor 2

N-DTO-K-RWC /4B 32
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64. The conceptualization of organiza-

tion ‘as a designing process’ may be
regarded as limited, one-sided and
incomplete, because it

1. highlights the formal
structural aspect of the
organization only

2. privileges tasks and functions
over the members of the
organization

3. focuses on the organizational
efficiency only

Select the correct answer using the
code given below :

Code -
fa}] 1 and 2 only
(b} 1 and 3 only

fc) 2 and 3 only
(d 1,2 and3

65. Consider the following statements :

1. The classical model of rational
choice allows all members of
an organization to  make
choices.

2. Herbert Simon's model of
decision-making takes into
account both rational and
non-rational aspects of
organization members.

Which of the statements given
above 1s/are correct?

fa) 1 only
fb) 2 only
{c) Both 1 and 2

{d) Meither 1 nor 2

66. As per the Constitution (74th

Amendment) Act, Legislatures of
States have not been conferred the
power to empower municipalities
with the responsibility of

fa) preparation of plans for
cconomic  development and
social justice

b} management of law and order

(c) implementation of schemes as
may be entrusted to them

fd) levy, collection and
appropriation of taxes, duties,
tolls, etc. =5

67. Which of the following docs not find

mention in Philip_Selznick’s key

tasks of leadership?

{a) The definition of institutional
mission and role

(b} The institutional gencration of
resources

(c) The defence of institutional
integrity

(d) The ordering of the internal
conflict

68. Commenting on the relationship

between political development and

administrative development, Fred

Riggs advocated that a strong

bureaucracy is

fa) mostly helpful to political
development

(b) inimical to political
development

(¢} somewhat helpful to political
development

(d) neither helpful ner inimical to
political development

N-DTQ-K-RWC/4B
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69. Which of the following is/are 71. Which one of the following is not

70. Which of the

correct regarding the Planning
Commission?

1. Deputy Chairman has always
been a whole-time member.

2. Some Union Cabinet Ministers
have been part-time members.

3. Members of the Planning
Commission -enjoy the status
of a Cabinet Minister.

4. Number of whole-time expert
members has varied.

Select the correct answer using the

code given below :

Code :
fa) 2 and 4 only

correct regarding the Comptroller
and Auditor General {CAG) of India?

fa) His salary and other service
conditions are determined by
the Parliament

(b) He shall take an oath before
the President

fe} He may also take an oath
before any other person
appointed on behalf of the
President

fd) He can be removed on the
grounds as in case of a Judge
of High Court

72: iAFording. 1o Atticleg 78 "ol the

Constitution of India, .the Prime

fb] 4 only Minister has to furnish information

) 1and 3 to the President in respect of

(d 1,2 and 4 1. ‘all decisions of Council of
; 2 an

following  are
the non-divestiture options. “of
privatization  of sick  public
enterprises in India in the cra of
liberalization?

1. Restructuring

2. Contracting out

3. Management buy-out
4, Joint ventures

‘Belect the correct answer using the
code given below -

Code :

fa) 2 and 4 only
f) 1 and 2 only
fcg 1,2 and 4
(d) 1,3 and 4

N-DTQ-K-RWC/4B
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Ministers relating to admin-
istration of the affairs of the
Union

2. submitting for consideration of
Council of Ministers any
matter on which a decision has
been taken by a Minister, but
not considered earlier by the
Council of Ministers

3. submitting
Legislation as the President
may call for

proposals for

4. international treatics

Sclect the correct answer using the
code piven below :

Code :

fa) 1,2 and 4

{b) 1 and 3 only

fcf 2 and 3 only

je) 1,2 and 3

i

21



http://upscportal.com
http://www.upscportal.com

http://upscportal.com

India’s Largest IAS, UPSC, Civil Services Aspirants Community.

77. Which one of the following is not 3. He can extend the life of the

true of the attributes of New Public
Administration?

fa) Based on normative political
theory

(b} Administration with social

Lok Sabha by 6 months at a
time.

4. He can empower the
Parliament to frame laws on
the subjects under List 11

Select the correct answer using the

- coneerns,  humanism, par- ; bel
ticipation and  democracy/ code given below :
decentralization Code :
fc) Scientism  and  fact-value (a) 1 and 4 only
separation (bl 2, 3 and 4
{d) Emphasis on the cthical fc) 1, 2-and 4
dimension of public (d} 1 and 2 only
administration : -
80. The President is recommended by
Fi e issi
78. Which one of the following the nanee Commission as to the

statements is not correct regarding
the State vs. Market debate?

fa) State .and Market are two
sovereign independent cntities

b} State and Market function in
complementary relationship

{c) Although Market is o self-
regulatory, crisis, situations
invite intervention by the State

{d} Imperfection of either State or
Market would reflect on the
efficacy of the other

79. Which of the following powers docs

the President “of India “assume
during  the  Proclamation  of

1. distribution of net proeceds of
taxes between. the Union and
States

2. principles governing grants-in-
aid o the revenues of States
out of Contingency Fund of
India

3.  measures to augment
Consolidated Fund of a State
to supplement
Municipalities

resources  of

4.  measurcs to augment
Consolidated Fund of a State
to supplement
Panchayats

resourees of

Select the eorrect answer using the
code given below :

Emergency? Code .
1. He can issue directions to any (a) 1,2 and 3
State.
. 3 4
2. He has the right to alter or (3, 3 and

amend distribution pattern of

{cj 1 and 4 only

financial  resources  between
the Union and States. {d} 3 and 4 only
N-DTO-K-RWC /4B 40
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81. Which of the following are within the

mandate of the 73rd Amendment to
the Constitution of India?

1. Disqualification provision for
Panchayat membership

2. Setting up of a State Finance
Commission

3. Empower the State Election
Commission to hold periodic
local government clections

4. Constitution of a
Planning Committee

District

Select the correct answer using the
code given below :

Code -

fa) 1, 2 and 4
(b} 2 and 3 anly
{c/ 1 and 3 anly

{d) ., 2 and 3

82. In comparative public administra-

tion, there is

1.._.5:::5[{;]1 for a theory of public
.+ administration

2. ‘practical application of

knowledge

3. comparative analysis  of
onpoing  problems  of public

administration

4. neglect of cultural factors from
comparative analysis of admin-
istrative systems

N-DT(-K-EWC /4B
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83. According to

85. The-

Select the correct answer using the
code given below :

Code :

fa) 1,2 and 3
fb) 2 and 3 only
{0 1and 3 only
(d) 1,2 and 4

Fred W. Riggs,
Development Administration
involves an egg-chicken type of
relationship between two major
factors. They are

fa) politics and administration

{b] administration of development,
and law and order

(e} .administration of development

and development of adminis-
tration

{d) agraria and industria

84. Who of the fellowing is net appointed

by the Governor?
fa) State Council of Ministers
{b) State Advocate General

jc) State Director General of Police

{d] Members of State  Public
Service Col]1;1153§10n3
MNew Public  Administration

approach is the offshoot of the
ja) First Minnowbrook Conference
b} Second Minnowbrook

Conference

fc) writings of Ferrel Heady and
Sybil L. Stokes

{d) theory of prismatic

coined by Fred W, Riges

socicty

23
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86. The paradigm

shift towards

88. Which one of the following is not a

liberalization, privatization and

globalization in public policy has

spawned the

1. New  Public
approach

Management

2. rejection of the administrative’

state

3. reliance on public choice-
based approach

4. bureaucratic expansion
Select the correct answer using the
code given below ;

Code :

‘fa) 1 and 2 only
(b} 2 and 3 only
fc/ 1,2 and 3
{d) 3 and 4

87. Consider the following statements

regarding Maslow’s  theory of

motivation :

1. Human needs are.. ‘mot
waterticht compartments, but
relative.

2. Human  needs occur in
clusters.

3. Self-actualization needs are of
topmost  importance all the
time.

4. The emergence of
needs is gradual.

human

Which of the statements
above is/are correct?

given

fal 1,2 and 4
(b} 2 and 3
{¢) 4 only

{d 1 and 4 only

N-DTQ-K-RWC /4B
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89. Unlike

characteristic of Weber’s theory of

bureaucracy?

fa) Distribution of activities in a
random way

(b) Written documents
fc) Fixed jurisdictiohal arena

{d) Authority to pive commands
other classical

Frederick Taylor - was
interested in '

writers,
mainly

fa} overall organizational problems

(b} problems arising out of
mechanization ‘of the work
setting

{c/ practical problems of efficicncy

fdl changing context of capitalism

90. Which among the following is/are

the main  cmphasis/emphases
of the classical theory of
organization?

1. Design and rules
2. Behaviour and motivation
than

3. Deduction rather

induction

4. Prescribed relationships among
assigned responsibilities

Select the correct answer using the

code given below :

Code :

fa) 1 only

fh) 2 and 3

fc 1 and 4 only

{d) 1, 3 and 4

24
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91. Which of the following conditions
isfare necessary for undertaking

the exercise of Performance
Budpgeting?
1. Advance  programming of

government operations on a
short-term basis

2, End results of the programme
must be measurable

3. Total outlay must be capable of
allocation between fixed and
variable costs

4. Budget should provide for the
entire project cost from- a
long-term point of view

Select the correct answer using the
code given below :

Code :

fa) 1, 2 and 4
fb) 2,3 and 4
fc] 3 only

{d) 2 and. 3 only

one of

92. Which the - following

perspectives is owed to Max Weber

in his formulation of contrasting
ethies?

{a} Persomnal ethics
(b] Ethics of responsibility
fc}  Situational cthics

{d] Regime values

N-BTQ-K-RWC /4B
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93. Why did James Mooney describe the
principle of Coordination as the
first principle of organization?

I. It is an allinclusive principle
which provides unity of action.

2. It expresses unity of action in
" pursuit of a common purpose.

3. It _con&ain_s _devices  for
distribution of authority.
4. It makes leadership imperative.

Select the correct answer using the
code given below :

Code : e
fa) 1, 2 and 4 only
fb} 1 and 3 only
fe) 2 and 4 only
(@ 1,2,3and 4
94. What are the rationales behind the
principle of Supervision in public
administration?

1. It iz an extension of the
leadership function.

2. It involves the function of
direction and guidance to
subordinates.

3. It facilitates coordination of

work.

4. It is the principal means to
identify errant workers.

Select the correcl answer using the
code given below :

Code :

fa) 1 and 2 only

b} 1 and 3 only

fc) 3 and 4

fd} 1,2 and 3
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95. Which one of the following is not Select the correct answer using the
a function of a State Finance code given below :
Commission?
Code ;

fa) Determination of taxes, duties @ 1,5 5and4

and tolls which may be (b) 2 and 4 only ..
assigned to Panchayats g S

fc) 1 and 3 only

(b) Grant-in-aid to Panchayats {d] 1, 2 and 3 only
from Consolidated Fund of the

Union Government
97. Which one of the following agencies

does not have statutory oversight
fc) Measures to improve financial over public expenditure?

position of Panchayats
' {a] The Parliament

{d) Distribution of the net (b} The Planning Commission

proceeds of Tees leviable by the

Stite hetwest the Bisia fc) The Comptroller-and Auditor

Panchayats Gienerg!
{d] The Finance Ministry
O08. As per the Sixth Schedule to the
96. The Metropolitan Planning Constitution qf Irfdia, %h(f rulh:s for
Committec while prepafing.- the the _ﬁrst mnstm_lt]on of District and
draft plan has to give due regard to Regional Councils are prepared. by

{a} the Ministry of  Home,

1. matters of common interest Garerniestof Thdia

between  Municipalities  and

Panchayats. . () the Chief  Minister  in

P e E e - consultation — with  existing

2. overall u_-hjccti.vcs, and prioritics tribal  councils  or  other
set by the Union Government representative  {ribal  organi-

zations of the region

3. plans prepared by Panchayats

. . fc/  the Governor in consultation
m Metropolitan areas

with existing tribal councils
or other representative tribal

4. contingent circumstances organizations of the region
emerging  oult of  natural
calamities {d) the State Legislature
N-DTQ-K-RWC /4B 48
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99,

B.

G

D.

Match List-] with List-1I and select
the correct answer using the code
given below the Lists :

List-1 List-II
(Feature} {Theory)
Internal 1. New public
accountability management
Self-serving 2. Taylorism
bureaucracy
Efficiency, 3. Public choice
economy and theory
effectiveness

Efficiency and 4. Max Weber's

cConomy bureaucratic

theory

Code :

fa) A E- & D

B A B-C B

) A B C D

fd}l

4
w
)
=

N-DTOQ-K-RWC/f4B
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100. Which one of the following does not

figure in bureaucratic forms as
suggested by Merle Fainsod?

(a) Representative bureaucracies
{b) State party burcauc:r_acics. -
{c) Neutral bureaucracies

{d] Military-dominated
bureaucracies

101. The paradigm of ‘reversals’ mooted

by Robert Chambers in the context

of development management
includes

1. spatial reversals

2. revcfs&]s inprofessional values
Cand preferences

3. reversals in specialization

4. management reversals

Select the correct answer using the
code given below :

Cu-d;e 2

fa) 1,2 and 3 only
fb) 2 and 4 only
fc) 1 and 3 only

fdl 1,2, 3 and 4

27
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102. Civil society’s contribution to 'good

governance’ has in recent times
been  highlighted in  Robert
Putnam’s research work on ‘social
capital’ which stands for

1. social cohesion
2. democratization
3. civic ethos
4

network of
associations

primary

Select the correct answer using the
code given helow :

Code :

fa) 1 and 3 only
(b) 3 and 4 only
fe} 1,3 and 4

{d} 2 and 4

i 103. The First Administrative Reforms

Commission recommended grada-
tions when writing the confidential
reports of secretariat officers of the
level of Under Secretary and above.
one  of the following
gradations was not included -in
their recommendations? '

ja) “Fit for promotion’

(b} ‘To be sent for training before
promaotion’

fci  "Unft for promotion’

fd] Notl yet fit for promation’

N-TITO-K-RWC /4B
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104. Bridging fiscal deficit’ is a major

problem in governmental
budgeting. This is sought to be
solved through

1. market borrowing

2. selling of
securities

government

3. tapping dcposit funds like
provident fund and small
savings schemes

Select the correct answer using the
code given below :

Code :

{w) 1, 2 and 3

(b) 2 and 3 only
+

e} 1 and 3 only

fd) 1 only

105. In conceptualizing the motivations of

52

the bureaucrats, Anthony Downs’
classification of burcaucratic
personalities has shed new light
on the realitics of burcaucratic
performance. His typology includes
1. ‘Climbers’

2. Conservers’

3. 'Politicians’

4. ‘Statésman’

" Select the correct answer using the

code given below
Code :

fa) 1,2, 3 and 4
(b} 2 and 4 only
{¢/ 1 and 3 only

{d] 1, 2 and 4 only

28
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106. Which of the following are true of

New Public Administration?

1. It is client-oriented and
concerned with social equity.

2. It 15 an
globalization.

3. It decreases the role and
importance of bureaucracy.

outcome  of

4. It is supportive of innovation
and change.

Select the correct answer using the
code given below

Code :

fa) 1 a_nd 3 only
(b) 3 and 4 only
) 1,2 and 4

fel 1, 3 and 4

107. Which of the following statements

is/are correct?
1. The Vice-Minister (Administras
tive) in Japan is a civil servant.

2. A French bureaucrat is more a

public sérvant” than a public -

official.

3. American civil scrvants at the
top level can be political
appointees.

Select the correct answer using the
code given below :

Code :

fal 1 and 2
bl 1 only
fc] 3 only

{d] 1 and 3

- RWC/4B
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108. In American

context, Nicholas
Henry observes that “Public
Administration is the device used
to reconcile bureaucracy with
democracy”. Which of the following
truly reflect his observation?

1. A superior understanding of
government and its relation-
ship with the society it governs

2. Encouragement to  public
policies to be more responsible
to the social needs

3. Conscious planning to
overcome  the constraints of
tradition upon the functioning
of government

4. Institution of  managerial
policies  attuned to effective-

ngss, efficiency and require-
ments of the citizenry

Select the correct answer using the
code given below :

Code :

fa) -1, 2 and 3
fb) 2 and 4 only
fe) 1, 2 and 4

fdif 1,3 and 4
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109. Which one among the following

recommendations of Satish
Chandra Committee for recruitment
to higher Civil Services did the
Government accept?

fa) The number of attempts for
candidates belonging to SC
and ST be limited to six

(b)) The age limit for general
candidates may be limited to
21-26 years

¢} De-linking of Seven Central
Group ‘A’ Services and Eight
Central Group ‘B’ Services
from Combined Civil Service

{d] Total marks of interview test be
increased from 250 to 300

110. Which of the following statements

isfare correct in respect of Mew
Public Administration?

1. 1t is a philesophical movement
of the 1970s.

2. It clevates techniques “over
values. '

3. It focuses on issues of social
equily ‘and social change.

4. Itis basically normative.

Select the correct answer using the

cade given below :
Cade :

fa) 1,2, 3 and 4
fb) 1,3 and 4 only
fc} 1 and 3 only

{d) 4 only

N-DTQ-K RWC/[4B
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111. Which one of the

following
statements is not correct regarding
the changing role of the District
Collector after independence?

fa) The Collector is vested with
powers under various Central
and State laws either by

express provisions or by
delegation
fb) The emergence of several

technical departments at the
district level under the State
has reduced the Collector’s

authority
fc) Even in times of natural
calamities, the Collector's

supremacy no longer prevails

(d} The Collector’s role in rural
development is affectediby his
relationship  with * the™ Zila
Parishad

112. In employer-employec relationship,

Whitleyism stands for

1. joint consultative machinery

between the government and
its employees

2. a forum for free discussion
and redressal of individual
gricvances

3. a form - of  compulsory

arbitration
Select the correct answor using the
code given below :
Code :
fa) 1 and 2
(b} 1 only
fc}] 2 and 3
idl 2 only
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113. A number of streams run through Select the correct answer using the

the ‘Open Model’ of organization

code given below ;

theory’s overarching framework.
Which one of the following falls s
outside this typology of streams? @) 1,2 and 3

fa) Administrative or
management

peneric

(b} Organization development

{¢) Human relations school

(b} 2 and 3 only
{c} 1 and 2 only
(d} 3 only

(d) Organization-environment 116. As per Hcr‘bert. Simon, which one of
Hriberaictian the following is the correct order of
the three key activities that are

=S , ntral ision-making?

114, Which of the following are the . t?._{-:lf:ms:on ma_lgng
features of the Fused model of (a) Chﬁ:o?-desrgxl—lntclhgmoc
Fred Rigps? ' (b) Planning-choice-design
1. Particularism (c) Intelligence-design—choice
2. Attainment {d) Intelligence-choice—~dcsign
3. Ascriptive values - g

117. Which of the following are the

4. Functionally diffuse

Select the correct answer using the
code given below :

Code :

contributions of  Comparative
Administration Group n the
development- of public  adminis-
tration?

1. It facilitated cross-cultural
fa) 1 and 3 only .
rescarch relevant to  public

(b} 3 and 4 only administration.

(c) 1,3 and 4
[d) 1, 2and 4

115. Which of the following is/are truc

with respect to the Public Accounts
Committee?

1. Its work is based solely on the
audit reports of the CAG.

2. It examines the accounts of
the Government of India for
appropriations made by the
Lok Sabha,

2. It enriched the litcrature on
public administration.

3. It supplied intellectual inputs
for  technical assistance
Programmes.

4. Its

cthno-eentric.

mainstrearn remainced

Select the correct answer using the
code given below :

Code :
fa} 1, 2 and 3
fb}) 2 and 3 only

3. It examines the accounts
of autonomous and  semi- fc} 1 and 3 only
autonomous bodies. fd} 1, 2 and 4
N-DTQ-K-RWC /4B 58
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118, Which of the following are

the recommendations of the
2nd Administrative Reforms
Commission?

1. Creation of autonomous

personnel boards on a ....

statutory basis for assisting
the high-level political
authorities

2. At the higher level—say the
Joint Secretary level—all posts
should be open for recruitment
from a wide variety of sources
including the open market

3. Constitutional safepuards
provided to civil servants

under Article 311 should be
considered sacrosanct

4, The specialist should not be
required to play second fiddle
to the generalist at the top

Select the correct answer using the
code given below :

Code ;

fa) 1 and 2 only
fb) 2 and 4 only
fcj 1,2 and 4

(d 1,3 and 4

N-DTQ-K-RWC/4B
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119. Which one of the following is not
correct in respect of the Civil
Service of France?

fa) ENA is responsible for
recruitment and training of
higher civil servants

(b) A career civil servant cannot
hold a ministerial post

fe] A civil servant is recruited to a
corps and stays in it for the
rest of his career

{d) A civil servant can go on
deputation with right of
‘reintegration’ into his corps

120. Which of the following matters are
: brought before  Stalf Councils
attached to each Ministry in the
Central Secretariat for discussion?

1. Welfare of staff members

2, Working conditions of staff
members

3. Improving efficiency and
standard of work

4, Salary structure and perks

Select the correct answer using the
code given below :

Code :

(@ 1,2, 3and4
(p) 2 and 3 only
{e) 1,2 and 3 only

(d) 1 and 4 only
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